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11 K%K ¥ 15,000 11 &R ¥ 15,000
2| BIHkE ¥ 10,000 2| BIftE ¥ 10,000
3| & - =5t ¥ 10,000 3|[E-55t ¥ 10,000
4| EHKE ¥ 10,000 4| EHRE ¥ 10,000
5| EHRE ¥ 10,000 5| EHRE ¥ 10,000
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&5 ik K4 E5 ik K4
1 1
2l F 2| Fi
3| AR 3| Rk
N 4] R
5| Fith 5| Fith
6] TEFT 6] TFR
7| HEFR 7] Rk
8| ZERAK 8| ZEAK
9 EH 9 BH
10| =it 10| Fith
11| ek 11| WP
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17| it 17| Fit
18] TRk 18| Rk
19|  [FAI&R 19| P&k
20 20
21|  F 21| i
22| Fith 22| Fith
23 23
24| BH 24| BEH
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27| ZEX 27| ZEX
28 —>EE— 28] MR
29| EH 29| BH
30 AT 30 TEFR
31| PaEE 31|  PEx




